IS ES 7

HLAEALSE

FEhEE
NP2
(=]

FALI B
LB

MEME

FAELTEE,
BB

Aok

BRAEETE

WEENTE

BEEESTEE
ZWMAmTE
BEIiEETE

TukHLERA

EHIEE &
IRFNEE & EA4E

EHLAEHFE

G202

KMRBEZHTE—SHSHBYL | TSDM(GS) FARTI60/080mm

TERNMERE (ZIE ) FURR | MR RS U EE RIS SAERREM.

® B S ERFH RN ESHERDIREITIRE | STLUR

AT STRREAT,

© RATHRIEEOUIR | REEREMEAIRA) |

IS | EAHEES.

o ERTEKITHKERAVERER  SEFERETHARY

KRR S

EARIEIR

ilt=) TSDM(GS)60-15X TSDM(GS)80-20X TSDM(GS)60-10ZF
1742 (mm) 15 20 10
AERT (mm) 6060 80x80 60x60

TR, 24T (mm) BRI PS5, §F20.5 BB PS5, §F20.5 BB PS5, BF20.5

BANIEIR | S8hZ TSD—{RELES, TSD—RELS4HH, TSD—4BLEH,
TR ) ) 7]
BE (kg) 0.8 1.1 0.7
Sy (25) (um/RioH) 1 1 1

(£5) (pm/Bkisn) 0.5 0.5 0.5

BAEE (mm/sec) 5 5 2
EMFEE (um) 5 5 2
BSFEMEE (um) 0.5 0.5 0.5
AEAED (N) 19.6(2.0f) 29.4(3.0f) 19.6(2.0f)
HRAERIEE /D (N-cm) 0.4" 0.2" 2"

b HHSERIE/fRIZE (N-cm) 0.4" 0.2" 2"

ISR | HHAERIEE /465 (N-cm) 0.4" 0.2" -
Z247F2 (um) 0.5 0.5 0.5
femhEliEls (um) 10 10 5
SEATE (Um) 50 50 50
EEFETE (um) 10 10 -
ZHEBEE (um) - - 8
LsHn] 15" 15" 15"
fRiZ 15" 15" -
(ERUERELS GP1S092HCPI(E& (%)) PM-L24(SUNX@) PM-F24(SUNX@)

J— RPRAIB(ERNEE BEE) B P
RRfERES x x xE
ITER ARG RER x x x

B/ (e AR IR
el SiESitENL  0.35A/48(ORIENTAL MOTOR(#))

AT RS PK513PB-C9([120mm)
bl es) 0.72°

W RRANIREE RHRRS
113

SHOT-302GS. SHOT-304GS. HIT-M - HIT-S

——————

www. hours-web.com



2D
CAD

3D
CAD

TSDM(GS)60-15X [ sttt Maxs--44, M3x6--2/>

n Hexagonal socket head cap screw
M4x8...3 screws, M3x6...2 screws

TSDM(GS)80-20X

Hexagonal socket head cap screw
M4x8...3 screws, M3x6...2 screws

) a7zt waxs 34, u3x6-24

(153.2)
(128.2) 73.2 = 80 5
68.2 60 12-Md depth 5
8-Md depth § 25__25_ | 4-M3depth5 M4 depth 3 4-M3 depth 5
M4 depth 3 _| o
| | % —'—f
MR B 1 i o
S oo o 3 _ H_ - o
- T 0. & 8 —#?[—6 2
$ @ o |g
L

"7

£ Travel 10

“

Travel 10
I

¢ 8 counterbore

:
g ;T z_}]

70 ~

3-¢ 4.5 mounting hole

TSDM(GS)60-10ZF [ wsssnisite MaX 1547, M3X6--24

n Hexagonal socket head cap screw
M4x15...4 screws, M3x6...2 screws

T e @
f F #7 4+
o | f8 _% | o
wn — A (=]
B arif . |
== e +
6-M4 depth 8
25| 25 4-M3 depth 5
@ 0 o
=
|
=|
o i
ol s—
= L 1 =
50 4-$4.5 mounting hole
8 counterore

¢ 8 counterbore

——

www.hours-web.com

IS ER?

MR

FEIEE
b ll:-lx

SF T

SeHLA

e

FALI B
LB

MEM=E

FARE FEE
2RERIF

I88 &
PEAE <Y

HRBBETE

BEEHTE

BEEHTE
AT
BEiERTE
Toll#zEA

1T &
RENEE & R4

EHLEHFE

G203


https://pan.baidu.com/s/1Et8_lefiJ8CkfhN1UKRiRA

